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June, 2025 

BCOE-143 : FUNDAMENTALS OF FINANCIAL 

MANAGEMENT 

Time : 3 Hours  Maximum Marks : 100 

Note : Attempt any five questions. All questions 

carry equal marks. 
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1. What do you mean by Financial 

Management ? How has financial 

management evolved as a discipline ? 

Should the goal of financial decision-making 

be profit maximisation or wealth 

maximisation ? Explain. 2+8+10 

2. (a) What is cost of capital ? Explain the 

significance of cost of capital. 2+6 

(b) A firm sales of ` 20,00,000; variable cost 

` 14,00,000 and fixed cost of ` 4,00,000 

and debt ` 10,00,000 at 10% rate of 

interest. What are operating leverage, 

financial and combined leverage ? 12 
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3. A company is considering the purchase of a 

machine out of two machines with the 

following details : 

 Machine I Machine II 

Life 

(estimated) 3 years 3 years 

Initial 

Investment 

     ` 

       10,000 

          ` 

         10,000 

Cash inflows :   

     1st year 8,000 2,000 

     2nd year 6,000 7,000 

     3rd year 4,000 10,000 

You are required to suggest which machine 

should be preferred by using : 20 

(i) Payback period method. 

(ii) Net present value method. 

Using 10% discount rate. 
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P. V. of ` 1 at 10% for three years is  

.909, 0.826 and 0.751 respectively. 

Note : Ignore Depreciation. 

4. (a) Explain the earning capitalization 

approach of dividend. 10 

(b) Explain the residual theory of  

dividend. 10 

5. (a) What is working capital ? What are the 

different kinds of working capital ? 

Explain with examples. 10 

(b) Explain the importance of adequate 

working capital. 10 

6. Discuss the various techniques for inventory 

management. 20 
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7. (a) Discuss the concept of Weighted 

Average Cost of Capital and Weighted 

Marginal Cost of Capital, with 

examples. 6 

(b) Explain long-term sources of finance. 14 

8. Write explanatory notes on any two of the 

following :  10+10 

(i) Types of Preference Shares 

(ii) Systematic risk and Unsystematic risk 

(iii) NPV vs. IRR 

(iv) Payable Management 
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okf.kT; esa Lukrd mikf/k (lkekU;) 

[ch- dkWe- (th-)] 

l=kar ijh{kk  

twu] 2025 

ch-lh-vks-bZ-&143 % foÙkh; izcU/k ds ewy rRo 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksas ds vad 

leku gSaA 

1- foÙkh; izcU/k ls D;k rkRi;Z gS \ foÙkh; izcU/k ,d 

v/;;u fo"k; ds :i esa fdl izdkj mHkjk gS \ foÙkh; 

fu.kZ;ksa dk mís'; ykHk vf/kdre djuk gksuk pkfg, ;k 

lEink vf/kdre djuk \ o.kZu dhft,A 2$8$10 
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2- (d) iw¡th dh ykxr D;k gksrh gS \ iw¡th dh ykxr dk 

D;k egRo gS \ 2$6 

([k) ,d QeZ dk foØ; ` 20]00]000( ifjorZu'khy 

ykxr ` 14]00]000 vkSj LFkk;h ykxr ` 4]00]000 

vkSj ½.k ` 10]00]000 10% C;kt nj ij gSA 

ifjpkyu yhojst] foÙkh; vkSj la;qDr yhojst D;k  

gaS \   12 

3- ,d dEiuh nks e'khuksa esa ls ,d [kjhnus dk fopkj dj 

jgh gSA budk fooj.k bl izdkj gS % 20 

 e'khu I e'khu II 

vk;q (vuqekfur) 3 o"kZ 3 o"kZ 

 

izkjfEHkd fuos'k 

` 

 10]000 

`  

10]000 

udn varokZg %   

     izFke o"kZ 8]000 2]000 

     f}rh; o"kZ 6]000 7]000 

     r`rh; o"kZ 4]000 10]000 
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vki fuEufyf[kr fof/k;ksa dk mi;ksx dj lq>ko nhft, fd 

dkSu&lh e'khu [kjhnuh pkfg, % 

(1) iscSd vof/k fof/k 

(2) fuoy orZeku ewY; fof/k 

10% dVkSrh nj dk mi;ksx dhft,A 

rhu o"kks± ds fy, 10% dVkSrh nj ij ` 1 dk orZeku 

ewY; Øe'k% -909] 0-826 vkSj 0-751 gSA 

uksV % dksbZ Îkl ugha gSA 

4- (d) ykHkka'k ds vk; iw¡thdj.k n`f"Vdks.k dk o.kZu 

dhft,A  10 

([k) ykHkka'k ds vof'k"V fl¼kUr dk o.kZu dhft,A 10 
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5- (d) dk;Z'khy iw¡th D;k gksrh gS \ dk;Z'khy iw¡th ds 

fofHkUu izdkj D;k gSa \ mnkgj.k lfgr o.kZu 

dhft,A  10 

([k) i;kZIr dk;Z'khy iw¡th ds egRo dh O;k[;k  

dhft,A  10 

6- buosUVªh izcU/k dh fofHkUu rduhdksa dh O;k[;k  

dhft,A   20 

7- (d) iw¡th dh Hkkfjr vkSlr ykxr vkSj iw¡th dh Hkkfjr 

lhekar ykxr dh mnkgj.kksa lfgr foospuk  

dhft,A  6 

([k) foÙk ds nh?kkZof/k lzksrksa dk o.kZu dhft,A 14 

8- fuEufyf[kr esa ls fdUgha nks ij O;k[;kRed fVIif.k;k¡ 

fyf[k, %   10$10 

(i) iwokZf/kdkj va'kksa ds izdkj 
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(ii) O;ofLFkr tksf[ke vkSj vO;ofLFkr tksf[ke 

(iii) NPV vs. IRR (fuoy orZeku ewY; cuke 

vkUrfjd izR;k; nj) 

(iv) ns; izcU/k 

× × × × × 


